Total No. of Questiony : 8§

ROMING oo o] )

EC-305 (GS)
B.Tech., I11 Semester
Examination, November 2022
Grading System (GS)
Network Analysis
Time : Three Hours

Maximum Marks : 70
Note: i) Attempt any five questions.
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i1) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) State and explain Kirchhoff's voltage and current law with
an example.
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b) Aseries RLC circuit takes a maximum current of 0.3 A at
200 V, 50 Hz. It the voltage across the capacitor is 290V
at resonance. Determine R,L,C and ().
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Derive the equation for Equivalent inductance, when two

inductors are coupled in series opposing and mutual
inductance exists between them.
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Define Incidence Matrix for the graph shown in Figure.
Find the complete Incidence Matnix.
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3. a) Defincand cxplain the following with an example:
i)  Graph and Subgraph
i) Oriented Graph
iii) Tree of a Graph
iv) Twigsand Links
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b) Draw the parallel resonant circuit and derive the
expression for resonant frequency
srfiyefad omH @)
4. a) Find the Norton's equivalent circuit for the following
circuit
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Find the voltage drop across 3£2 resistor by Superposition
theorem.
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5. a) State and explain the Tellegen's theorem with suitable
example.
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b) Find the value of i{0") using the initial value theorem for

the function

I(s) = (2s+3)/[(s+1)(s+3)]
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I(s) = (2s+3)/[(s+1)(s+3)]

6. a) In the network shown in figure below, the switch K is
moved from position 'a’ to 'b' at t=0. Find the Particular
solution for Current i(t). '
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b) For the waveform shown in figure below. Writc the
expression and find the Laplace transform.
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7. a) Find the Y-parameter of the circuit as shown in figure

below ) ‘
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b) Define Hybrid parameters of a Two port network.
Established the relation between Hybrid Parameters and

A_BCD Parameters.
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8. Write a short notes on any Two!: 14
i} Image Parameter
ii) Steady State Analysis
iii) Controlled and un controlled sources
. iv) Dual Networks
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